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OFAEAFAY ANASALA &Sl
20,0003 «10H «323] 600
< 180
Al 420
OFAEAFAY AJASALA S A
7,000& 30 *23] 420
< 126
Al 294
O R2us AHC NS AA 2|
500,000 500
< 150
Al 350
1MIIEBESS 30,720 30,720 0
OFAGLEAY 282F  30,720,000& <1 30,720
< 9,216
Al 21,504
ChEst, Ss0lgFe X3 At 493,074 445,045 48,029
= 250,209
< 88,591
Al 154,274
Ch2st, =2 =X &5& 481,574 435,045 46,529
= 245,209
< 88,591
Al 147,774
=04 X& 470,174 433,645 36,529
= 245,209
< 88,591
Al 136,374
201 Yer2 | 232 232 0
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SN OEIED

g =23, Set0lg€x:2 NE A
0

el O3, 232 =X 58 (=& J)
(o
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
01 At 22l 232 0 232
Oget=&H| 232
—CUE23ItE AN 20l HAIZ=EHI 232
EEE(E2AHHE) HA
50,0003 14! 23] 100
- 2HA 3,000& *x22H «23| 132
202 oidl 1,589 1,589 0
01 = LH o4 1l 1,589 1,589 0
OU=3s, =602 NG 0tsSHHYE R FA
202 (4 bl 264,800 x2H »33] 1,589
301 L2 AF 81,556 78,836 2,720
< 36,048
Al 45,508
07 2el=& 0o bl 5,000 0 5,000
OUEstIE AF2Z =& (4HH)
5,000,000 » 14! 5,000
09 HALAHIEA S 3,760 6,040 A2,280
O0IZE0is, SROZXADT UL HAES Ayl
80,000& 20X 1,600
OU=23ItE e0tS=M &It &l
8,000& x215H 1,720
OCH2BIIE QAT 20l #A &4 &Yl
10,000& *x22H 23| 440
MIEE4d3 72,796 72,796 0
OU=ZR3sIE ¥ =Ss0lEx0 S HE
70,000 x10H 700
OUZIsItE gy AER= X&E
15,020 *400 M CH 1200 & 72,096
< 36,048
Al 36,048
307 21201 A 386,797 347,988 38,809
= 245,209
< 52,543
Al 89,045
02 B AEXS 5,000 0 5,000
OLU2st ZHANG (BB RBIS)
5,000,000& =14 5,000
10 A2l =S X2 X 381,797 347,988 33,809
OO0IF0id SI=2MHFANA HOIDS
2,000, 000& 1Al 2,000
OUIsIE BRESH S8 A
3,000,000& =14 3,000
OZE0=0E ZFEXNEAY
20,000,000& =14 20,000
OUER3IE M ALY XA
53,757,000& =14l 53,757
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AN GEIEY
M =23, 2801252 @ ALY
Sel: CH2s, =0 =X 53 CERED
SA - BB B () - MM - BES Ol &t o San HmEET
= 37,631
< 8,063
Al 8,063
OZE0I2UX SHAANHA XA
14,320,000& 14 14,320
= 10,024
< 2,148
Al 2,148
Osgd 24l 2,000,000& =14 2,000
= 1,400
< 300
Al 300
OUR3IE Y2uIAY 139,490,000 * 14 139,490
= 97,643
< 20,923
Al 20,924
OU=2sIIEXNJAHEH 29 140,730,000 14 140,730
= 98,511
< 21,109
Al 21,110
OYISUEINTA HRME(SExE)
50,0003 13 102 6,500
2= =X 52 11,400 1,400 10,000
201 Let249] 1,400 1,400 0
01 At 2teltl 1,400 1,400 0
ozg=¢ 1,400
— 2NN Bl HALY
70,0003 *10Y *23] 1,400
307 glz2tol & 10,000 0 10,000
04 RIZIHAIE XS 10,000 0 10,000
OAIH el & &AL 10,000, 0003 * 14 10,000
SS0IEF2 X3 ALY 11,500 10,000 1,500
= 5,000
Al 6,500
Sgolg=a X 11,500 10,000 1,500
= 5,000
Al 6,500
201 LBt 4,740 2,080 2,660
= 1,400
Al 3,340
01 At 22l 4,740 1,980 2,760
Oggt=&H| 4,740
— SO FUEE YL
10,000& 1005 1,000
— SS0IEF0XY 2224 1,400
MEEES ¥ EHFY 896,000& » 14! 896




o
CEE B (BH) - HBAY - BAS %Eﬁ HR=2
= 896
HPEET S|
7,000 x2H x32 x12& 504
= 504
— 280l €F0 935 EES(E3tE)
50,000& *23] 100
—SS0lEFR NP ALY
70,000& «6H «23] 840
—=B0/2F0 ARG ALY
0,000 x5 x4 3| 1,400
301 et A= 6,760 7,920 A 1,160
= 3,600
Al 3,160
01 Al B & A 462 3,160 2,920 240
OMES ASUA2 S 20,000& *158H 3,160
09 HAIAHI EAZ 3,600 5,000 A 1,400
SHOIE =0l 23tE8t 3,600,000 13| 3,600
= 3,600
S(HAII=) 100,000 100,000 0]
WEAHAHXI= 100,000 100,000 0
HBS)I2x4d 852 100,000 100,000 0
702 D128 &E2 100,000 100,000 0
M IIS2EE3 100,000 100,000 0
OdESII= 52 100,000, 000& 100,000
SHAH (WL ) 53,416 71,672 N 18,256
AU (A=) 53,416 71,672 N 18,256
[2HHI(H-Eo1= 1) 53,416 71,672 N 18,256
201 gBt2Ad| 18,452 24,768 N6,316
01 AP 22| H| 18,452 20,868 N2,416
Ogbt4=24| 9,884
—JI2AIREE | 100,000& 17 1,700
— 2 AP &= 4AH| 500,000& *x1CH x23] 1,000
—dOIMESHEY 237,000 x3CH x43] 2,844
—EAD EE 1Y 330,000 = 1CH =4 3] 1,320
—E2AMD EH 2L 150,000 =10 4 3] 600
— A EYH 110,000& = 10H *4 3] 440
— SASA 2L 20,000 x78t A %128 1,680
- JI23A2E2EH| 150, 000& *23| 300
O=3&H| 8,568
—HAIJIEN 2= E20AH]
L0002 x17H +63] x12& 8,568
202 04d| 31,184 42,704 A 11,520
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A OIS

M HM22HAH (WA= W)
S JI2AU(HAIIE W) (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %Eﬁ HRE2
01 2L Hl 31,184 42,704 A 11,520
OWHEII=EY LRFA 2L HI
20,000 x15H «83| x12& 28,800
OO SXNAY B9 o MRS HA 2O
[0:R] 264,800& x3H *33| 2,384
203 € R =& 3,780 4,200 AN420
04 EASHEIRFAH| 3,780 4,200 N420
OFNMSIEREF=EH| 350,000 *12& *90% 3,780
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